Lab #4:  Z-scores (rev. 9/28/2009)
	What’s the z-score formula for a score?
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	What’s the std error of the mean formula? 
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	What’s the z-score formula for a sample mean?
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	1.  Susie Shwagenhaur scores 450 on the SAT (σ = 100, μ = 500).  Calculate the z-score.

Circle: z-score for…   score   or  sample mean?
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	What percent of people should score above Susie? Show sketch.
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	Sketch the freq. distribution.  Label with both raw and standard scores.
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	2.  A fetal alcohol syndrome baby weighs 6.3 oz while normal babies weigh 8 (σ =1).

Circle: z-score for…   score   or  sample mean?

	What percent of normal babies would weigh more? Show sketch.


	Sketch the freq. distribution. Label with both raw and standard scores.



	3.  A class of 25 students average 530 on the SAT (σ = 100, μ = 500).

Circle: z-score for…   score   or  sample mean?


	Do these students seem more or less intelligent than normal?  Test with α=.05 (zcrit = ± 1.96).  Show sketch.


same intelligence

Circle:  Reject  or   Retain H0
	Sketch the sampling distribution. Label with both raw and standard scores.
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	4.  A group of nine crack babies average 7 oz while normal babies weigh 8 (σ =1).

Circle: z-score for…   score   or  sample mean?


	Do these babies seem to weigh more or less than normal?  Test with α=.05 (zcrit = ± 1.96).  Show sketch.

Circle:  Reject  or   Retain H0
	Sketch the sampling distribution. Label with both raw and standard scores.



	5.  After taking statistics for therapy, a group of 25 students average 48 on the depression inventory (μ = 50 and σ = 5).  

Circle: z-score for…   score   or  sample mean?


	Do these students seem more or less depressed than normal?  Test with α=.05 (zcrit = ± 1.96).  Show sketch.




Circle:  Reject  or   Retain H0
	Sketch the sampling distribution. Label with both raw and standard scores.
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	6.  Standard Error of the mean tells you the difference that you….. expect or observe? 

7.  Standard error of the mean will always be…  smaller or  larger …than standard deviation.

8.  As experimenters, we want standard error to be …. small or large?  Explain why.




μ = 500


σ = 100


x = 450











� EMBED Equation.3 ���





z = -.5





,50000


.19146


.69146





69.146%
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zcr = -1.96





zcr = -1.96





zobt = 1.5





























zobt = -2





zcr = -1.96





zcr = -1.96





zobt = 1.5





zcr = -1.96





zcr = -1.96





zobt = 1.5
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